Standard Actuator

MADE IN ITALY @R

ACTUATECH

ACTUATOR TECHNOLOGY




Actuator Performances

Special scotch yoke design that gives an increased torque and the seat break out point.
Bush steel alloy and Scofch yoke steel alloy: use of steel parts instead of aluminium parts, ensures high wear
resisfance fo the internal mechanism and consequent longer working life.
Compact design with reduced overall dimension allows an easy handling & minimal air [energy) consumption.
Special compound seals and guide on the sliding pistons, ensure self lubrication for life.
The special double on one sealing rings grants a longer life maintenance free without O-ring sticking and
replacement.
Infernal bores are fine lapped and have anodized surface treatment for lower friction and perfect piston sealing,
this solution increases the life of the sliding parts.
Maintenance free for the full actuator working life.
Standard sfainless sfeel drive shaft protects against the environmental corrosion.
Shaft anti-blowing system. The driving shaft/lever construction avoids any possible expulsion of the shaft.
Standard stroke adjustment.
Atex 2014/34 /EU for suitability of the equipment intended for the use in Potentially Explosive Atmosphere.
Actuator Nominal Torque: from 8 Nm to 1920 Nm.
Mounting flange according with DIN/ISO 5211, DIN 3337: FO3-FO4 - FO5 -FO7 -F10-F12-F14-F16.
NAMUR standard pressure connection.
Rotation angle: 92° [-1°+91°).
Stroke Adjustment: 10°. (Special adjustment on request).
Nominal pressure: 5,6 bar; maximum operating pressure 8,4 bar.
The torque is directly proportional to the operating pressure.
For the simple acfing (spring refumn| actuators the reverse torque is performed only by the spring action, and is
independent from the operating pressure.
Temperature: from -20°C fo +80°C.
(Special version HT -20°C to +150°C or LT -50°C to +60°C].
Operating media: compress filtered air not necessarily lubricated. (For temperature under O°C use dry air).
In case of lubricated air use non-defergent oil compatible with NBR rubber.
All the models are available in double acting “GD" and simple acting “GS” version.

Water proof IP68.

Special pistons

sealing pack
Stainless steel

driving shaft

Bush steel alloy and
Scotch yoke steel alloy

Internal lapped
cylinder bore



Actuators Nominal Torque: from 1440 Nm to 8000 Nm.

Mounting flange according with DIN/ISO 5211, DIN 3337: F16 - F25.

NAMUR standard pressure connection.

Rotation angle: 100° -5°+95°).

Stroke Adjustment: 10°.

Nominal pressure: 5,6 bar; maximum operating pressure 8,4 bar. (GD800O pmax 7 bar).

Stainless steel
driving shaft

Bush steel alloy and
Scotch yoke steel alloy

Shaft support

Internal lapped
cylinder bore

Patented stroke adjustment



Fp = Motive energy force,
due to compressed air on pisfons

Mt = Drive torque,
force Fp multiplied o its arm of
application

0° VALVE CLOSED

P = Motive energy pressure

&)

T = Tangential force of Fp,
rofation force

2] Ol4

V = Perpendicular force of Fp,
discharged on the shaft

D = Piston diameter,
actuator bore

i @ i

Calculation data:

2] Ol4

D =100 mm

P=56bar=0.56N/mm?2

Fp = (1 D2 P/4 = 4398 N

90° VALVE OPEN

L @ 1

2] Ol

~- -

Torque calculation example.

Taking in consideration the pneumatic actuator Actuatech GD480, we calculate the drive torque corresponding to
3 main drive shaft position rofation angle:

0° Valve Closed = Break torque, 50° Intermediate Position = Minimum Run torque, 90° Valve Open = End torque.
Valve Closed 0° = Break torque: Mt, = 2*(Fp/cos(56°))*42,17 = 663.326 Nmm = 663 Nm

Intermediate Position 50° = Minimum Run forque: Mt, = 2*(Fp/cos(6°))*29,5 = 260911 Nmm = 261 Nm
Valve Open 90° = End torque: Mt, = 2*(Fp/cos(36°))*43,19 = 469581 Nmm = 469 Nm

N.B. The force V is not involved in the torque calculation as its direction is perpendicular to the drive shaft also,
its action is annulled by means of the shaft and cylinder strength. The rofating torque is related only to the force T
and its distance from the rofation axis.

The calculated torques Mt are theoretical, the real torque must take in consideration the frictions in play and
consequent Scotch Yoke System Efficiency. The friction of the system varies during the rofation as follows:
positions 0° e Q0° about 0,74+0,76 (due to high transversal forces) position at 50° about 0,92 (low transversal
force).



Actuatech Scotch Yoke 5° Off-Set transforms
the motive energy supplied fo the pistons in a
Canted rofary torque with an high start torque,
a lower run torque and a final increased
closing torque. This canted torque matches
the part turn valves torque requirement (such
as ball and butterfly valves) that has a similar
forque development curve during its cycle.

The canted Scofch Yoke Spring Refurn
Actuator  sealing forque increase ensures
a positive valve closing with its final push.
Simple acting (spring return] actuators are
available also in fail to open version.

ENERGY SAVING SYSTEM

DOUBLE ACTING GD

The diagram shows the torques development
during the valve cycle from closed to open
and closed again.

1: Rack & Pinion flat forque,

2: Scotch Yoke canted torque,

3: Represent the typical valve torque.

The blue area between the Rack & Pinion
and Scofch Yoke diagrams shows the Motive
Energy Saving, easily verified comparing the
compressed air consumption stated in our data
fable and any Rack & Pinion manufacturer.

SPRING RETURN GS

The diagram shows the torques development
during the valve cycle from closed to open
and closed again.

1: Rack & Pinion flat forque,

2: Scotch Yoke canted torque,

3: Represent the typical valve torque.

The blue area between the Rack & Pinion
and Scofch Yoke diagrams shows the Motive
Energy Saving, easily verified comparing the
compressed air consumption stated in our data
fable and any Rack & Pinion manufacturer.

BTOV: Break Torque to Open Valve;
BTOA: Break Torque to Open Actuator;
BTOA = BTOV+SF ( Safety Factor ).

Valve and actuator torques diagrams

VALVE VALVE VALVE
CLOSED OPEN CLOSED
AR ACTION AR ACTION

2
3 /
g
o
o]
o° 00° 0°
VALVE VALVE VALVE
CLOSED OPEN CLOSED
AR ACTION ) SPRING ACTION
3 /
g
o
e
o° 00° 0°
VALVE VALVE VALVE
CLOSED OPEN CLOSED

BTOA

BTOV

AR ACTION

AR ACTION

_/

g
g
kel
0° Q0° 0°
VALVE VALVE VALVE
CLOSED OPEN CLOSED
AIR ACTION 1 SPRING ACTION

BTOA

BTOV

Torque

_/

Q0°

0°

04



ACTUATOR | ROVIIONANGLE Air pressure supply in bar
SIZE 90° VALVE OPEN 2,5 3 4 5 5,6 6 7 8
0° 3,1 3,8 50 6,3 7,0 7.5 8,8 10,0
GDS8 45° 16 19 2,5 3,1 3,5 3,8 44 50
90° 3,1 3,8 5,0 6.3 7,0 75 8,8 10,0
0° 6,7 8,0 10,7 13,4 15,0 16,1 18,8 21,4
GD15 50° 3,3 40 54 6.7 7.5 8.0 o4 10,7
90° 5,0 6,1 8,1 10,1 11,3 12,7 147 16,1
0° 13,4 16,1 214 26,8 30,0 32,1 37,5 42,9
GD30 50° 67 8,0 10,7 13,4 15,0 16,1 18,8 21,4
90° 10,0 121 16,1 20,1 22,5 24,1 28,1 32,1
0° 20,1 24,1 32,1 40,2 45,0 48,2 56,3 64,3
GD45 50° 10,0 12,1 16,1 20,1 22,5 241 28,1 32,1
90° 15,1 18.1 24,1 30,1 33,5 36,2 422 482
0° 26,8 32,1 42,9 536 60,0 64,3 75,0 85,7
GD60 50° 13,4 16,1 214 26,8 30,0 32,1 375 42,9
90° 20,1 24,1 32,1 40,2 45,0 48,2 56,3 64,3
0° 473 568 757 94,6 106,0 113,6 132,5 151 4
GD106 50° 237 28,4 37,9 473 53,0 568 66,3 757
90° 357 42,9 571 714 80,0 857 100,0 1143
0° 53.6 64.3 857 107.1 120,0 128.6 150,0 171.4
GD120 50° 26.8 321 42.9 536 60,0 643 75.0 857
90° 402 4872 643 80.4 90,0 96.4 1125 128.6
0° 80,4 96,4 128,6 160,7 180,0 192,9 2250 2571
GD180 50° 402 482 64,3 80,4 90,0 96.4 112,5 128,6
90° 60,3 72,3 96,4 120,5 135,0 1446 168,8 192,9
0° 107,1 128,6 171 4 214,3 240,0 2571 300,0 342,9
GD240 50° 536 643 85,7 107,1 120,0 128,6 150,0 1714
90° 80,4 96,4 1286 160,7 180,0 192,9 225,0 2571
0° 160,7 192,9 2571 3214 360,0 3857 450,0 5143
GD360 50° 80.4 96,4 1286 160,7 180,0 192,9 2250 2571
90° 120,5 1446 192, 2411 270,0 289,3 3375 3857
0° 2143 2571 342,9 4286 480,0 5143 00,0 685,7
GD480 50° 107,1 128,6 1714 214,3 240,0 2571 300,0 342,9
90° 160,7 192,9 257,1 321,4 360,0 3857 450,0 514,3
0° 3214 3857 5143 642,9 720,0 7714 9000 | 10286
GD720 50° 160,7 192,9 2571 3214 360,0 3857 450,0 5143
90° 2411 2893 3857 482,1 540,0 5786 675,0 7714
0° 4286 5143 6857 857,1 960,0 10286 | 12000 | 13714
GD960 50° 2143 2571 342,9 4286 480,0 5743 600.0 6857
90° 3214 385,7 5143 642,9 720,0 7714 900,0 | 10286
0° 642,9 7714 | 10286 | 12857 | 14400 | 15429 | 18000 | 2057,1
GD1440 50° 3214 385,7 5143 642,9 720,0 771 4 9000 | 10286
90° 482,1 5786 7714 964,3 10800 | 11571 13500 | 1542,
0° 857,1 10286 | 13714 | 17143 | 19200 | 2057,1 | 24000 | 27429
GD1920 50° 4286 5143 6857 8571 960,0 10286 | 12000 | 13714
90° 642,9 7714 | 0286 | 12857 | 1aa0,0 | 1542, | 1800,0 | 20571
0° 12857 | 15429 | 20571 | 25714 | 28800 | 30857 | 36000 | 41143
GD2880 50° 642.9 7714 | 10286 | 12857 | 14400 | 1542,9 | 1800,0 | 20571
90° 964,3 11571 | 1542,9 | 19286 | 21600 | 23143 | 27000 | 30857
0° 17143 | 2057,1 | 27429 | 34286 | 38400 | 41143 | 48000 | 54857
GD3840 50° 8571 10286 | 13714 | 17143 | 19200 | 20571 | 24000 | 2742.9
90° 12857 | 1542, | 20571 25714 | "2880,0 | 30857 | 36000 | 41143
0° 25714 | 30857 | 41143 | 51429 | 57600 | 61714 | 72000 | 82286
GD5760 50° 12857 | 15429 | 20571 | 25714 | 28800 | 30857 | 36000 | 41143
90° 19286 | 23143 | 30857 | 38571 | 43200 | 4628,6 | 54000 | 61714
0° 35714 | 42857 | 57143 | 71429 | 80000 | 85714 | 100000
GD8000 50° 17857 | 21429 | 28571 | 35714 | 40000 | 42857 | 50000
90° 2678,6 | 32143 | 42857 | 53571 | 60000 | 64286 | 7500,0




w| ., | SPRING TORQUE Air lvinb

& N RELATED TO pressure supply in bar

&| & | ROTATION ANGE
Z | 0° VALVE CLOSED

é = | 90" valVE OPEn 2,4 2,8 3,5 4,2 5,6 8

< 0° 150°  90° [ 0° 150° 90° | 0° [50°:90° [ 0° :50° 1 90° [ 0° :50°190° [ 0° i50° 1 90° [ 0° i50° ¢ 90°
28 50 37 75 57 2,6 3,2 75 37 50 10,6 56 8,1 13,8 74 11,3

=135 63 47 9a 94 47 63 |26 65 94 |88 i 03 | 157

S a2 75 56 3 82 i 37 : 44 | 113 56 : 75 | 176 . 93 : 138 | 283 | 157 i 245
56 10,0 75 15,0 15,0 75 10,0 257 139 ¢ 20,7
2,8 10,0 75 15,0 11,4 5,4 6,4 15,0 75 10,0 21,3 11,3 16,3 27,5 15,0 22,5

S35 125 94 s 188 : 94 | 125 | 251 : 132 188 | 376 | 207 i 313

8 4,2 15,0 11,3 22,5 16,3 7,5 8,8 22,5 1,3 15,0 35,0 18,8 27,5 56,4 317 i 489
56 | 20,0 15,0 30,0 30,0 15,0 20,0 51,4 279 i A4
28 | 175 £ 130 : 265 | 202 i 93 | 112 | 25 i 130 | 175 | 375 195 | 285 | 485 @ 260 i 395

B35 20 165 30 330 L 65 i 220 | 440 : 231 i 330 | 660 i 363 : 550

Bl 42 20 195 400 290 130 £ 150 | 400 195 ¢ 260 | 620 [ 325 i 480 | 997 i 548 : 857
56 [ 350 1 260 | 530 530 | 260 1 350 | 907 | 483 | 727
28 | 200 {150 300 | 229 : 107 | 129 | 300 | 150 | 200 | 425 : 225 @ 325 | 550 | 300 | 450

S35 ] 250 188 | 375 75 | 188 ¢ 250 | 500 [ 263 i 375 | 750 i 14 i 625

842300 5 450 325 150 L 175 | 450 | 25 {300 | 700 ¢ 375 i 550 | 1129 { 632 i 979
56 | 40,0 30,0 60,0 60,0 30,0 400 [ 1029 i 557 82,9
28 | 300 { 225 : 450 | 343 : 161 : 193 | 450 | 225 © 300 | 638 : 338 ' 488 | 825 | 450 i 675

&35 75 281 | 563 563 1 281 i 375 | 751 1 394 : 563 | 1126 619 938

8 42 | 450 33,9 67,5 48,8 22,6 26,3 67,5 339 450 [ 1050 i 56,5 82,5 [ 1693 i 952 : 1468
56 | 600 F 450 900 900 | 450 1 600 | 1543 1 836 | 1243

ol 28] 40 300 " 600 | 457 214 257 | 600 300 400 | 850 450 ' 650 | 1100 600 & 900

|35 ] 500 37,5 75,0 750 37,5 50,0 | 1000 i 52,5 750 [ 1500 i 825 i 1250

@221 800 i 50 900 650 300 350 | 900 | 450 [ 600 | 1400 | 750 i 1100 | 2257 { 1264 i 1957
56 | 800 {600 1200 1200 ¢ 600 | 800 | 2057 i 1114 1657

o~ 28 | 60,0 45,0 90,0 68,6 32,1 38,6 90,0 45,0 600 | 1275 : 67,5 97,5 [ 1650 i 90,0 i 1350

@35 | 750 563 1125 1125 ¢ 563 | 750 | 1500 ¢ 788 i 1125 | 2250 i 1238 : 1875

@42 %00 75 1350 975 | 450 { 525 | 1350 | 675 i 900 | 2100 i 1125 i 1650 | 3386 : 1896 : 2936
56 | 1200 i 90,0 : 1800 180,0 i 90,0 { 1200 | 3086 i 167,1 i 248,6

o |28 ] 800 i 600 T 1200 [ 914 1 429 514 | 12001 600 ¢ 800 | 17001 900 (1300 | 2200 1 1200 | 1800

|35 [ 1000 i 750 1500 1500 ¢ 750 : 1000 | 2000 i 1050 : 1500 | 3000 i 1650 : 2500

8 42 11200 i 90,0 : 1800 130,0 i 60,0 70,0 | 180,0 i 90,0 i 1200 [ 280,0 i 150,0 i 220,0 | 451,4 : 2529 i 3914
56 | 1600 i 1200 : 2400 240,0 : 1200 : 160,0 | 4114 i 2229 : 3314

o |28 ] 1200 " 900 1800 | 1371 43 77,1 | 1800 © 900 © 1200 | 2550 1350 | 1950 | 3300 | 1800 | 2700

;,9, 35 | 1500 : 1125 § 2250 2250 ¢ 1125 ¢ 150,0 | 3000 { 157,5 i 2250 | 450,0 i 2475 i 3750

@ | 22 ] 1800 1350 2700 1950 1 90,0 : 1050 | 2700 { 1350 i 1800 | 4200 i 2250 : 3300 | 677,1 i 3793 587,]
56 | 2400 {1800 3600 3600 : 1800 | 2400 | 6171 3343 ¢ 497,]

o |28 | 1600 " 1200 " 2400 | 1829 857 1029 | 2400 : 1200 | 1600 | 3400 : 180,0 ¢ 260,0 | 4400 | 2400 | 3600

@ |35 | 2000 | 1500 : 3000 3000 : 1500 : 2000 | 400,0 : 2100 3000 | 600,0 : 3300 | 5000

@[ 42 ] 2400 1800 3600 2600 i 120,0 : 1400 | 3600 : 1800 | 2400 | 560,0 : 3000 : 4400 | 9029 : 5057 : 782,9
56 | 3200 2400 4800 4800 2400 3200 | 8229 4457 i 6629

o |28 | 2000 1 1800 T 3600 [ 2743 T 1286 ¢ 1543 | 3600 1800 ¢ 2400 | 5100 T 2700 | 3900 | 660,0 } 3600 | 5400

&35 | 3000 i 2250 | 4500 4500 2250 : 3000 | 600,0 : 3150 : 4500 | 900,0 : 4950 : 7500

@[ 42 ] 3600 2700 1 5400 3900 i 180,0 : 2100 | 5400 i 2700 | 3600 | 840,0 : 4500 | 6600 | 13543 7586 {11743
56 | 4800 ¢ 3600 i 7200 7200 | 3600 | 4800 | 12343 6686 | 9943

o |.28.] 3200 1 2400 T 4800 [ 3657 1 1714 ¢ 2057 | 4800 1 2400 | 3200 | 80,0 3600 | 5200 | 8800 | 4800 | 7200

S| 35 [ 4000 3000 6000 600,0 3000 | 400,0 | 800,0 : 4200 | 6000 | 12000 6600 : 10000

8 4,2 | 4800 : 3600 : 7200 520,0 ¢ 240,0 i 280,0 | 720,0 : 360,0 : 480,0 [ 1120,0: 600,0 : 880,0 | 18057 : 1011,4 : 1565,7
56 | 6400 {4800 9600 9600 4800 | 6400 | 16457 8914 {13257

Q|24 [ 4110 1 3080 : 6170 | 6170 | 3080 | 4110 | 7883 4107 | 5823 | 10881 5904 8821 | 1388,0} 770,1 (11820

[ 35 | 6000 : 4500 : 900,0 900,0 : 450,0 : 600,0 [1200,0: 630,0 : 900,0 | 1800,0: 990,0 i 1500,0

8| 56 | 900 | 7200 | 14400 14400 | 7200 | 9600 | 24686 1337,1 119886

o| 28 | 6400 : 4800 i 960,0 | 731,4 i 3429 i 4114 | 9600 : 4800 : 6400 | 1360,0: 720,0 i 1040,0]1760,0: 960,0 : 1440,0

& [ 35 | 8000 i 6000 | 12000 12000 © 6000 | 800,0 | 16000 8400 : 12000 | 2400,0 { 13200 2000,0

o |42 ] 9600 F 7200 : 14400 1040,0: 480,0 : 5600 | 14400 7200 | 9600 | 22400 12000 1760,0 | 36114 2022.9 31314

2 5,6 |1280,0 i 960,0 : 1920,0 19200 : 960,0 : 12800 | 3291,4: 1782,9 : 2651,4

o | 28 | 9600 i 7200 {14400 10971 5143 617, | 14400 ; 7200 | 960,0 | 20400 1080,0 : 15600 | 2640,0 { 14400 : 2160,0

8| 35 ] 12000 9000 " 18000 1800,0 © 9000 | 12000 | 2400,0 ¢ 1260,0 : 18000 | 3600,0 £ 19800 ; 3000,0

w | 42 | 14400 : 1080,0 : 2160,0 1560,0 i 720,0 i 840,0 | 2160,0 : 1080,0 i 1440,0 [ 3360,0 : 1800,0 : 2640,0 | 5417,1 i 3034,3 i 4697,1

© 56 19200 | 14200 2880,0 28800 ; 14400 : 19200 | 4937,1 2674,3 | 3977,1

o | 28 [ 13330 10000 : 20000 | 15239 7143 8569 | 20000 : 1000,0 | 13330 | 2833,3  1500,0 { 21663 | 3666,5  2000,0 : 2999,5

8 3,5 | 1666,3 i 1250,0 : 2500,0 2500,0 : 1250,0 { 1666,0 | 3333,3 : 1750,0 { 2499,2 | 4999,8 : 2750,0 | 4165,6

o | 42 | 19995 1 15000 : 30000 21668 1000,0 1165,8| 30000 £ 15000 ; 1999,0 | 46665 1 25000 : 36653 | 75234 : 42143 : 65219

O 56 | 26660 : 20000 : 40000 40000 | 20000 | 26660 | 68569 | 37143 | 55229




www.actuatech.com

Double Acting Actuators GD

GD8 - GD1920

OPEN POSITION VALVE

AIR CONNECTION SCHEMA

The port 2 is in connection with the cylinder side
chambers, supplying the pressurised air in port 2 the
standard Double Acting actuator drive shaft rofates
counter clockwise to open, while the port 4 is in
connection with the infermediate chamber and when
pressurised the drive shaft rotates clockwise fo close.

Actuator operation functionality remote control should
be done by means of direct solenoid valve connection
to the actuator standard interface VDE/VDI 3845
NAMUR, or by means of pipes screwed on the ports
marked with the numbers 2 and 4 and connected to
a separate control cabinet.

In accordance with the international standard 1SO
55992 the actuator air ports connection position,
location, orientation and form shall be c|eor|y
identified and market with the numerate 2 and 4.

GD2880 - GD8000

CLOSED POSITION VALVE

&)

210 t[]

(e]

= ©
o
o0




SIZE Opening time : Closing time ;| Cycle time SIZE Opening time i Closing time : Cycle time
Sec. Sec. Sec. Sec. Sec. Sec.
GD0008 0,03 0,03 0,06 GD0480 0,78 0,76 1,54
GDO015 0,04 0,04 0,08 GD0720 1,00 1,10 2,10
GD0030 0,06 0,07 0,13 GD0960 1,50 1,60 3,10
GD0045 0,08 0,09 0,17 GD1440 2,30 2,40 4,70
GD0060 0,10 0,11 0,21 GD1920 3,10 3,20 6,30
GDO106 0,20 0,21 0,41 GD2880 4,50 4,50 9,00
GDO0120 0,25 0,25 0,50 GD3840 6,00 6,00 12,00
GD0180 0,32 0,31 0,63 GD5760 8,00 8,00 16,00
GD0240 0,41 0,40 0,81 GD8000 11,00 11,00 22,00
GD0360 0,60 0,58 1,18
The operating time can be reduced on demand.

SIZE WE;%” SIZE Wf;?*“ SIZE Wlfégh*
GD0008 0,30 GDO0180 4,60 GD1440 23,40
GDO0015 0,75 GD0240 5,40 GD1920 32,00
GDO0030 1,00 GD0360 6,50 GD2880 56,00
GD0045 1,20 GD0480 9,60 GD3840 52,00
GD0060 1,60 GD0720 12,00 GD5760 86,00
GDO106 2,50 GD0960 17,40 GD8000 106,00
GDO0120 2,60

Air consumption Air consumption Air consumption

SIZE dm3/cycle SIZE dm3/cycle SIZE dm3/cycle

(I/cycle) (I/cycle) (I/cycle)
GD0008 0,03 GD0180 0,95 GD1440 7,60
GDO015 0,08 GD0240 1,30 GD1920 10,20
GD0030 0,15 GD0360 1,80 GD2880 20,00
GD0045 0,22 GD0480 2,60 GD3840 25,60
GD0060 0,30 GD0720 3,50 GD5760 38,00
GDO0106 0,55 GD0960 4,90 GD8000 50,00
GDO0120 0,59




\\
oS D
O,
= =
i s lw® T
| " |
C T
. ek | p Q
oF |
4
oR_ VDI/VDE 3845 NAMUR <«
O
N )
=
{ M5 7 /_m
TNy
O
1 .
o~
Ag B¢ - -
Fan) a
\v”4 \Y”4 I
=
24 o O O
|
80 VDI/VDE 3845 NAMUR
M6
M
CJ 5 /
0 M5 ;
o L=/ ==a\
Y :
—& &
*All dimensions are in mm.
TYPE GDO08 GD15 GD30 GD45 GD60 GD106 | GD120 | GD180 | GD240 | GD360 | GD480 | GD720 GD960 GD1440 GD1920
150 03 | ro3 i ro4 |Fossrosi ros |Fossrosi roa | roa  iros/ro7|Fos/roz | Fos/ror [Foz/mio[Foz/mio[roz/mio[riozmiz | miomiz [riomizi mia | Rz EoRia [Riomiel Fis
A 70 | 1591 i 1591 | 1743 i 1743 | 1885 1885 | 1981 i 1981 | 2371 | 257.4 | 2899 | 3136 | 3393 | 3877 | 433 | 4794 i 4794 | 567 i se7 | 6o i 0
B 9 T T n n 1 1 14 14 17 % 2 2 2 27 27 36 36 36 36 46 46
Cxdepth | M58 | M5x8 | M58 | M5x8 | M5x8 | M58 | M5x8 | M58 | M6xd | Moo | Mexd | M8x12 | msx12 | M8x12 | M10x15 | M10x15 [ MI10x15 i M16x24 | M12x18 § M16x24 [ M12x18 M1 6x24
D x depth M6x9 M6x9 M8x12 | M8x12 | M8x12 | M10x15 | M10x15 | M10x15 | M12x18 | M12x18 | M12x18 M20x30
E 36 36 42 36 42 36 42 42 50 50 50 70 70 70 102 102 102 140 125 140 125 140
F 50 50 70 70 70 | 102 | 102 | 102 | 125 | 125 | 125 . . . 165 -
G 8 10 10 10 10 13 13 13 13 13 13 16 17 19 19 | 195 | 195 i 195 | 195 i 195 | 185 ;i 185
H 26,8 26,8 30,3 30,3 325 325 357 357 42,8 44.8 54,5 58,1 60 57,4 61,5 78 78 86,5 86,5 99,2 99,2
| 8 8 8 9 9 10 10 10 10 12 12 15 15 19 19 22 24 24 27 27 32 32
L 577 | 722 5 722 | 792 i 792 | 845 i 845 | 904 i 904 [ 1033 | 107 | 1375 | a1 | 148 | vea9 | 178 | 198 ;o198 | 216 i 216 | 2377 ;2377
M 27 | 28 28 | 315 i 315 | 345 ; 345 | 377 i 377 | 448 | 468 | 565 | 601 | 62 | 729 | 785 | 935 i 935 | 1015 i 1015 | 1147 i 1147
N 35 | 442 §oaa2 | 477 i o477 | s0 50 | 527 i 527 | 585 | 02 | 81 81 86 92 | 995 | 1045 i 1045 | 1145 i 145 | 123 123
o 10,1 13,2 13,2 13,2 13,2 132 13.2 16,5 16,5 19,3 19.3 24,8 24,8 24,3 29,5 29,5 38,5 38,5 38,5 38,5 48,5 48,5
P 20 | 242 i 242 | 277 i 277 | 30 30 | 327 i 327 | 385 | 402 | & 5] 56 62 | 95 | 745 i 745 | 845 i 845 | 93 93
Q 232 | 28 28 | 315 i 315 | 345 i aas5 | 377 a7 | 448 | 468 | 565 | o1 | 62 | 729 | 785 | 935 i 935 | 1015 i 1015 | 1147 i 1147
R 92 | 92 i 92 | 109 P09 | 127 i 27 | 45 ioas | re2 | 18 | 202 | 225 | 255 | 29 | 318 | 365 F o365 | 4 4 46 46
S 15 20 20 20 20 20 20 20 20 20 20 30 30 30 30 30 30 30 30 30 30 30
T - 522 i 522 | 592 i 592 | 645 i 645 | 704 ; 704 | 833 | &7 |75 [ 1m0 | 18 | 1349 | 148 | 168 i 168 | 186 i 186 | 2077 i 2077
W (Gas) | 178 | s i o1ze | e e | e e | azer e | e | e | s | e | e | e | e | e i e | v e | e e
ch 13 13 13 13 13 13 13 13 77 7 2 2 2 27 27 27 27 36 36 36 36




‘ E = Number of Holes
F =Holes Size

| | S
- | I
ol
L
— Go
u oo
J .
| ® @
L | 5
— © ©
=
VDI/VDE 3845 NAMUR
l| 1™ =
=a =it JI 2 me
= Slo 4l
u F EE@ u
*All dimensions are in mm.
TYPE GD2880 | GD3840 | GD5760 | GD8000
1SO F16 F16 F25 F25
A 667 765 885 1044
B 560 651 744 877
C 188 325,5 372 438,5
D 46 46 55 55
E 4 4 8 8
F x depth | M20x30 | M20x30 | MI6x24 | Mi16x24
G 90° 90° 45° 45°
H 45° 45° 22,5° 22,5°
| 165 165 254 254
L 52 46 52 52
M 48,5 485 58 58
N 36 32 36 36
(o] 72 62 72 72
P 30 30 30 30
Q 18 18,5 18 18
R 195 166 195 195
S 359 3145 374 374
T 155,5 120 155 188
U 311 298 361 394

o
T
1]
VIEW A
40
20 3/8"GASx 13
1SO 228/1
7]
53]
Jan \
NN ANV e
b= &
7/ n
N
VDI/VDE 3845 NAMUR




(for GDO8 — GD2880 — GD3840 — GD5760 — GD800O part list, see the specific datasheet)

Pos Denomination Quantity Materials

1 Cylinder 1 Aluminium alloy
2 Piston 2 Aluminium alloy
3 Cap 2 Aluminium alloy
4 Shaft 1 Stainless steel
5 Scotch yoke 1 Steel alloy

6 Support bush 1 Acetalic resin
7 Shaft support 1 Acetalic resin
8 Bush 2 Steel alloy

9 Rotative sleeve 2 Steel alloy
10 Dynamic seal (piston) 2 Polyurethane
11 Piston’s support 4 P.T.F.E. Carbo-graphite filled
12 Piston’s o-ring 2 Nitrilic rubber
13 O-ring (upper sealing shaft) 1 Fkm




Pos Denomination Quantity Materials
14 External support ring 1 Acetalic resin
15 Washer 1 Stainless steel
16 Seeger 1 Stainless steel
17 O-ring (lower sealing shaft) 1 Fkm
18 Nut 2 Aluminium alloy
19 Cap's o-ring 2 Nitrilic rubber
20 Screw 8 Stainless steel
21 O-ring 2 Nitrilic rubber
22 External elastic pin of the yoke 1 Steel alloy
23 Internal elastic pin of the yoke 1 Steel alloy
24 Centering ring (optional) 1 Aluminium alloy
25 Stroke adjustment screw 2 Stainless steel
15 116 14 13 (9 2) 2) (o) (9) (3) (20) (25) (21) (8

22 23

17 4




www.actuatech.com

Spring Return Actuators GS

GS15 - GS960

CLOSED POSITION VALVE

\_ j

AIR CONNECTION SCHEMA
Single Acting, Spring Return fail to Close.

The pistons of standard GS actuators are mounted as
shown above. Although spring force is diminished,
the geometry of the mechanism provides a greater
forque at the end of the spring stroke. When the
actuator is in the valve open position, and the springs
are fully compressed, the end of travel stops can be
fine adjusted. Spring Refurn Fail to Open actuators
are required when in case of the pressurised air or
electrical power supply are off the valve should be
automatically opened.

In the fail to open actuators the pistons are inserfed
into the cylinder like the Double acting version, and
due to the spring force the actuator is Normally Open.

Attention. Nominal torque and torque performances
in Spring Return Fail to Open version, due fo its
construction, are different from the Spring Return Fail
to Close standard version.

GS1440 - GS4000

OPEN POSITION VALVE

30 t[

o

o

O
~

Caution. In order to avoid suction of dust or dirt inside of the actuator chambers during the spring action, insfall a
filtler on the port 2. The port 4 is in connection with the intermediate chamber and when pressurised the drive shaft
rofate counter clockwise to open. In accordance with the international standard ISO 5599-2 the actuator air ports
connection position, location, orienfation and form shall be clearly identified and market with the numerate 2 and 4.



SIZE Opening time : Closing time ;| Cycle time SIZE Opening time i Closing time : Cycle time
Sec. Sec. Sec. Sec. Sec. Sec.
GS0015 0,11 0,13 0,24 GS0360 1,70 1,90 3,60
GS0030 0,23 0,27 0,50 GS0480 1,80 2,00 3,80
GS0053 0,41 0,48 0,89 GS0720 2,20 2,50 4,70
GS0060 0,48 0,56 1,04 GS0960 2,90 3,40 6,30
GS0090 0,60 0,70 1,30 GS1440 5,00 6,00 11,00
GS0120 0,79 0,92 1,71 GS1920 7,00 8,00 15,00
GS0180 1,29 1,41 2,70 GS2880 9,00 11,00 20,00
GS0240 1,50 1,70 3,20 GS4000 12,00 13,00 25,00
The operating time can be reduced on demand.

SIZE WE;%” SIZE Wf;?*“ SIZE Wlfégh*
GS0015 1,20 GS0180 8,90 GS0960 42,00
GS0030 1,95 GS0240 11,80 GS1440 74,00
GS0053 3,00 GS0360 16,50 GS1920 70,00
GS0060 3,29 GS0480 22,70 GS2880 117,00
GS0090 5,90 GS0720 33,00 GS4000 183,00
GS0120 6,80

Air consumption Air consumption Air consumption

SIZE dm3/cycle SIZE dm3/cycle SIZE dm3/cycle

(I/cycle) (I/cycle) (I/cycle)
GS0015 0,09 GS0180 1,00 GS0960 5,90
GS0030 0,17 GS0240 1,50 GS1440 11,00
GS0053 0,30 GS0360 2,00 GS1920 13,10
GS0060 0,33 GS0480 2,80 GS2880 21,00
GS0090 0,55 GS0720 4,20 GS4000 29,10
GS0120 0,80




Al

E

T
C
oF P - Q
oF o
a_ VDI/VDE 3845 NAMUR
0)
M5 7 oW =
M
d = ; ' 1T TNy -
o
m 1
N ¢ ® M oAl
. }P _
24 o |[© O/
\
80
I hi VDI/VDE 3845 NAMUR
==y M5 4 / ‘L
o (mp N -
k/ '@7 M6 r Y
L o = ® J
|
*All dimensions are in mm.
TYPE GS15 GS30 GS53 GS60 GS90 GS120 | GS180 | GS240 | GS360 GS480 GS720 GS960
I1SO FO3/F05 FO4 FO4 FO5/F07 | FO5/F0O7 | FO5/FO7 | FO7/F10 | FO7/F10 | FO7/F10 | F10/F12 | F10/F12 | F10/F12 F14 F12 F14 F12/F16 F14
A 2333 233,3 259 259 304,3 360.8 3937 409,6 474 5205 613 648,2 648,2 798 798 828 828
A1 (2,8 Bar) 203,8 203,8 228,5 228,5 270,7 308.7 341,8 361,6 406,6 4541 523 563,8 563,8 683 683 7144 7144
B 1 1 14 14 17 17 22 22 22 27 27 36 36 36 36 46 46
C x depth M5x8 M5x8 M5x8 Méx9 Méx9 Méx9 M8x12 M8x12 M8x12 MI10x15 | M10x15 | MIOx15 i M16x24 | M12x18 : M16x24 | MI2x18 i M16x24
D x depth Méx9 M8x12 M8x12 M8x12 MI10x15 | M10x15 | MIOx15 | M12x18 | M12x18 | MI12x18 M20x30
36 42 42 50 50 50 70 70 70 102 102 102 140 125 140 125 140
F 50 70 70 70 102 102 102 125 125 125 165
G 10 10 13 13 13 13 16 17 19 19 19,5 19,5 195 19,5 19,5 18,5 18,5
H 30,3 30,3 357 357 42,8 44,8 54,5 58,1 60 57,4 61,5 78 78 86,5 86,5 99,2 99,2
I 9 9 10 10 12 12 15 15 19 19 22 24 24 27 27 32 32
L 79,2 792 90,4 90,4 103,3 107 137,5 1411 148 164,9 178 198 198 216 216 237.7 237.7
M 31,5 31,5 37,7 37,7 44,8 46,8 56,5 60,1 62 729 78,5 93,5 93,5 101,5 101,5 114,7 114,7
N 77 77 527 527 58,5 60,2 81 81 86 ) 99,5 1045 § 1045 | 1145 | 1145 123 123
o 13,2 13,2 16,5 16,5 19,3 19,3 24,8 24,8 24,3 29,5 29,5 38,5 38,5 38,5 38,5 48,5 48,5
P 27,7 27,7 32,7 32,7 38,5 40,2 51 51 56 62 69,5 74,5 74,5 84,5 84,5 93 93
Q 31,5 31,5 377 37,7 44,8 46,8 56,5 60,1 62 729 78,5 93,5 93,5 101,5 101,5 114,7 114,7
R 10,9 10,9 14,5 14,5 16,2 18 20,2 22,5 25,5 29 318 36,5 36,5 41 41 46 46
S 20 20 20 20 20 20 30 30 30 30 30 30 30 30 30 30 30
T 59,2 59,2 70,4 70,4 83,3 87 107,5 1,1 118 134,9 148 168 168 186 186 2077 2077
W (Gas) 1/8" 1/8" 1/8" 1/8" 1/8" 1/8" 1/8" 1/8" 1/8" 1/4" 1/4" 1/4" 1/4" 1/4" 1/4" 1/4" 1/4"
Ch 13 13 13 13 17 17 22 22 22 27 27 27 27 36 36 36 36




E=Number of Holes
oD H11 F =Holes Size

al
B H
=
O O (]
[ |
/ \ ]
s
VDI/VDE 3845 NAMUR T
130 u
i VIEW A
40
%&IK )@& i 20 3/8"GASX 13
150228/1
Nl
on @
= Jan \
5 N &
122 o
wny
— o~
il R
VDI/VDE 3845 NAMUR

*All dimensions are in mm.
TYPE GS1440 | GS1920 | GS2880 | GS4000

I1SO F16 F16 F16 F25
834 1001 1201 1370
686 857 996 1184
188 428,5 498 592
46 46 46 55
4 4 4 8

.,.,
x

T
B

M20x30 | M20x30 | M20x30 | M16x24
90° 90° 90° 45°
45° 45° 45° 22,5°

165 165 165 254
52 46 52 52

48,5 48,5 48,5 58
36 32 36 36

72 62 72 72
30 30 30 30
18 18,5 18 18

195 166 195 195

359 314 359 374
155,5 120 155,5 188
311 298 361 394

cla|wn|=m|o|v|Oo|Z[(Z||—-|T|@|F|m|o|o|=]|>




(for GS1440 - GS1920 - GS2880 — GS4000 part list, see the specific datasheet)

Pos Denomination Quantity Materials

1 Cylinder 1 Aluminium alloy
2 Piston 2 Aluminium alloy
3 Cap 2 Aluminium alloy
4 Shaft 1 Stainless steel
5 Scotch yoke 1 Steel alloy

6 Support bush 1 Acetalic resin
7 Shaft support 1 Acetalic resin
8 Bush 2 Steel alloy

9 Rotative sleeve 2 Steel alloy
10 Dynamic seal (piston) 2 Polyurethane
11 Piston's support 4 P.T.F.E. Carbo-graphite filled
12 Piston's o-ring 2 Nitrilic rubber
13 O-ring (upper sealing shaft) 1 Fkm

14 External support ring 1 Acetalic resin

18 20 19) 23) (22 21

10) (12 2 8




Pos Denomination Quantity Materials
15 Washer 1 Stainless steel
16 Seeger 1 Stainless steel
17 O-ring (lower sealing shaft) 1 Fkm
18 Nut 2 Aluminium alloy
19 Cap's o-ring 2 Nitrilic rubber
20 Screw 8 Stainless steel
21 Spring loading screw 2 Stainless steel
22 Spring cap 2 Steel alloy
23 Spring 2 Steel alloy
24 O-ring 2 Nitrilic rubber
25 External elastic pin of the yoke 1 Steel alloy
26 Internal elastic pin of the yoke 1 Steel alloy
27 Centering ring (optional) 1 Aluminium alloy
15 16 14 13 9 2 12 10

18




ACTUATECH S.p.A.

Via San Lorenzo 70 - 25069 - Villa Carcina (BS) - ltaly
Ph: +39 030.89.08.142 - Fax: +39 030.89.08.143
mail: actuatech@actuatech.com
www.actuatech.com




